
Exercice 6    

1) 𝐴 =  3𝑥 –  8 +  4𝑥 +  5 = 3𝑥 − 4𝑥 − 8 + 5 = −𝒙 − 𝟑  

𝐵 =  3𝑥2 +  5𝑥 –  6 –  2𝑥2– 4𝑥 –  3 = 3𝑥2 − 2𝑥2 + 5𝑥 − 4𝑥 − 6 − 3 = 𝒙𝟐 + 𝒙 − 𝟗  

       𝐶 =  5𝑥2–  7 –  9𝑥2 + 𝑥 –  3𝑥 +  9 = 5𝑥2 − 9𝑥2 + 𝑥 − 3𝑥 − 7 + 9 = −𝟒𝒙𝟐 − 𝟐𝒙 + 𝟐   

𝐷 =  4𝑥2 −  (𝟓𝒙 + 𝒙𝟐 −  𝟔𝒙) +  7𝑥 = 4𝑥2 − 𝟓𝒙 − 𝒙𝟐 + 𝟔𝒙 + 7𝑥 = 4𝑥2 − 𝑥2 − 5𝑥 + 6𝑥 + 7𝑥 = 𝟑𝒙𝟐 + 𝟖𝒙  

𝐸 =  3𝑥 – (𝟒 +  𝟐𝒙) +  (𝑥2 +  7) = 3𝑥 − 𝟒 − 𝟐𝒙 + 𝑥2 + 7 = 𝑥2 + 3𝑥 − 2𝑥 − 4 + 7 = 𝒙𝟐 + 𝒙 + 𝟑  

𝐹 =  3𝑥2– (𝟒𝒙 –  𝟏)– (𝒙𝟐 + 𝟓𝒙) = 3𝑥2 − 𝟒𝒙 + 𝟏 − 𝒙𝟐 − 𝟓𝒙 = 3𝑥2 − 𝑥2 − 4𝑥 − 5𝑥 + 1 = 𝟐𝒙𝟐 − 𝟗𝒙 + 𝟏  

𝐺 =  2 ×  3𝑥 ×  4 = 2 × 3 × 4 × 𝑥 = 𝟐𝟒𝒙  

𝐻 =  3 ×  5𝑥 ×  2𝑥 = 3 × 5 × 2 × 𝑥 × 𝑥 = 𝟑𝟎𝒙²  

𝐼 =  (−7𝑥) ×  3𝑥 = −7 × 3 × 𝑥 × 𝑥 = −𝟐𝟏𝒙²  

𝐽 =  7𝑥2 ×  2𝑥2 = 7 × 2 × 𝑥2 × 𝑥2 = 14𝑥2+2 = 𝟏𝟒𝒙𝟒  

 

2) 𝐴 = 7(3𝑥 + 5) = 7 × 3𝑥 + 7 × 5 = 𝟐𝟏𝒙 + 𝟑𝟓                

     𝐵 = 4𝑥(2𝑥 + 6) = 4𝑥 × 2𝑥 + 4𝑥 × 6 = 𝟖𝒙𝟐 + 𝟐𝟒𝒙 

      𝐶 = −9𝑎(3𝑎 + 𝑏) = −9𝑎 × 3𝑎 − 9𝑎 × 𝑏 = −𝟐𝟕𝒂𝟐 − 𝟗𝒂𝒃  

    𝐷 = −5(−2𝑥 − 4) = −5 × (−2𝑥) − 5 × (−4) = 𝟏𝟎𝒙 + 𝟐𝟎  

     𝐸 = (𝑥 + 5)(2𝑥 + 4) = 𝑥(2𝑥 + 4) + 5(2𝑥 + 4) = 𝑥 × 2𝑥 + 𝑥 × 4 + 5 × 2𝑥 + 5 × 4 = 2𝑥2 + 4𝑥 + 10𝑥 + 20  

    𝐸 = 𝟐𝒙𝟐 + 𝟏𝟒𝒙 + 𝟐𝟎   

    𝐹 = (2𝑥 + 3)(5 − 4𝑥) = 2𝑥(5 − 4𝑥) + 3(5 − 4𝑥) = 10𝑥 − 8𝑥2 + 15 − 12𝑥 = −𝟖𝒙𝟐 − 𝟐𝒙 + 𝟏𝟓   

    𝐺 = (𝑎 + 7)(𝑎 + 7) = 𝑎(𝑎 + 7) + 7(𝑎 + 7) = 𝑎2 + 7𝑎 + 7𝑎 + 49 = 𝒂𝟐 + 𝟏𝟒𝒂 + 𝟒𝟗        

    𝐻 = (𝑡 − 10)2 = (𝑡 − 10)(𝑡 − 10) = 𝑡(𝑡 − 10) − 10(𝑡 − 10) = 𝑡2 − 10𝑡 − 10𝑡 + 100 = 𝒕𝟐 − 𝟐𝟎𝒕 + 𝟏𝟎𝟎 

     𝐼 = (𝑡 + 5)(𝑡 − 5) = 𝑡(𝑡 − 5) + 5(𝑡 − 5) = 𝑡2 − 5𝑡 + 5𝑡 − 25 = 𝒕𝟐 − 𝟐𝟓            

    𝐽 = (5𝑥 + 2)2 = (5𝑥 + 2)(5𝑥 + 2) = 5𝑥(5𝑥 + 2) + 2(5𝑥 + 2) = 25𝑥2 + 10𝑥 + 10𝑥 + 4 = 𝟐𝟓𝒙𝟐 + 𝟐𝟎𝒙 + 𝟒 

    𝐾 = (3𝑥 − 4)2 = (3𝑥 − 4)(3𝑥 − 4) = 3𝑥(3𝑥 − 4) − 4(3𝑥 − 4) = 9𝑥2 − 12𝑥 − 12𝑥 + 16 = 𝟗𝒙𝟐 − 𝟐𝟒𝒙 + 𝟏𝟔              

   𝐿 = (3𝑥 + 2)(3𝑥 − 2) = 3𝑥(3𝑥 − 2) + 2(3𝑥 − 2) = 9𝑥2 − 6𝑥 + 6𝑥 − 4 = 𝟗𝒙𝟐 − 𝟒 

  

 

 


